Problem Set 1

Econ 420
Dr. Khan
1. Suppose a country produces two goods, X and Y, with two factors of production, K and L.  The production of good X always requires more K per unit than the production of Y does.  What does this imply for the shape of the country’s production possibility frontier. Explain carefully.  

2. Why relative prices more important for decisions about consumption and production than the nominal prices are? Provide an example to illustrate your answer.

3. For the following case determine the following: (a) pretrade relative prices and (b) the direction of comparative advantage.
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4. Show that if Country A has absolute advantage in S while country B has absolute advantage in T, A has comparative advantage in S, and B has comparative advantage in T.
5. Show that if a country has a comparative advantage in good S, it has comparative disadvantage in good T.

6. Australia is land abundant, India is labor abundant.  Wheat is land intensive relative to textiles.  Graphically demonstrate the pretrade and posttrade equilibria between these two countries.  Find and label the trade triangle of each.  Which factors gain and which factors lose when trade arises between these two countries.  

7. Suppose that country A is labor abundant.  It can produce two goods, X and Y.  Good X is capital intensive relative to good Y.  Derive A’s PPF and determine pretrade relative price of X in terms of Y.  Now, suppose that there is a technological innovation that makes capital more productive in the X industry, but not making in Y.  In a separate diagram, illustrate what would happen to A’s PPF and explain your result.  Show as well what would happen to the relative prices of X in A.  How might this affect A’s trade patterns? Explain.  
